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1. (@ 5w’ @ ‘fe’ o
Write ‘True’ or ‘False’ :

P7/821

Jor the questions
( New Course )

Full Marks : 80
Pass Marks : 24

1x4=4

() a VST @ ISR T_T
IS 2’3 AT 1.

Body of individuals should consist
of individuals only.
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(2)

(ii) S TRIPRAET GTFR T4 9 A I
@I (PR SRR 2 TR |
A resident in India cannot become
resident in any other country for
the same assessment year.

(if) FITOR (W] WFLTF W TR
IE |
Casual income received by the
assessee is fully exempt.

(iv) T2 o el W e ¥
e <1 o am faan = 1

Municipal tax due is allowed as
deduction for computation of
income from house property.

(b) A S ARG A 1x4=4
Fill in the blanks :
(i) s i SEE fE e RO
REré @1 ST (R
The status of Reserve Bank of India
as a person is as per the
Income-tax Act.
(i) ST o[ FRfe TIPTR AGTS Teom
iz 4 @ =W CHIS FACN |

Income which accrues or arises in
London from a business controlled
from India is taxable in the case
of

P7/821 : ( Continued )

(3)

@ %%«ﬁ%g_%@@dﬁaﬁ
RLE I , .

An income under the head capital

gain to a c.mnu E.:o: _w

(iv) P <O eifesE T e
aﬁnﬁgni%g
R

wam_ovd_.-oavno%an wn_mcomwgv is
Soonmwmh% 8 8&5 any noon__un as

2 gggﬂﬂ&ﬂ@é%@@

4x4=16
E:S short notes on
an
Bltaids . | y - four of the
(a) fore \

Previous year 2010131903

(b) TR SRS SHf . (o) .

Perquisites
) 2 9 V yoft
Annual value _

P7/821
( Turre@uer )




4 )

() TSR e

Capital assets

() FE®
Income tax authorities

ERAd @ FIHOM sRbE fEed e
g 3’ o SfReCH IR I I 14
“The incidence of income tax depends

upon the residential status of an
Explain in detail this

3. (a)

assessee.”
statement.

w1331/ Or

(b) .ﬂéuﬁgﬁaﬁa%ﬂgﬁxﬂ
= " @2 SO AT oft el e ?
o 7w, TR TR & &2 14
“Income tax is charged on the income of
the previous year.” Do you fully agree
with this statement? If not, what are the

exceptions?

4. (@ B X3 fRore 9, 2015-16 ¥T° g e
oS TrEd ¥ @M
Mr. X has the following income during
the previous year, 2015-16 :
(i) T wawz—2,60,000 5
Basic salary—< 2,60,000

p7/821 ( Continued )

p7/821

(i) @AM AH

(id)

(iv)

(v)

(v

(5)

(AR ¢F  ue-
=@°)—40,000 5

Dearness allowance (forming part of
salary)—¥% 40,000

g s (RGBT 7' -RAR @) —
6,000 53

Education allowance
children)—¥ 6,000

(for three

ZarBle PR F T SI61 IRW ARCN
#RfeE—60,000 51

Rent paid for a residential house at
Guwahati— 60,000

¥4 ST I5—48,000 531

House rent allowance— 48,000

@6 IR &Y AT WE IS
Aﬂ&ﬁuﬁu.m@wﬂ.&ﬂmgzﬁ
qiben® e @ cafe ) e
Seea T P I IR

He has been provided with a
motorcar of 1-8 litre engine capacity
for the official and personal use. All
expenses of the motorcar are borne
by the employer

( Turn Over )
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(6)

(vi) (5 T 14% Figfoene SRURRHE
e S (96 R IS
(wé7 SRRt 5 HISRGERE
He contributes 14% of his salary n.o
a recognized provident fund and his
employer also contributes the same
amount

(viii) Tl SRR e 13% 79 T
@1 A AR wifés 13,000 521

Interest credited to recognized
provident fund @ 13% amounted to
& 13,000

(ix) 9S4 e IA s
25,000 51 45 I
Medical expenses paid by his
employer € 25,000

(¢ Mr. X-4 & 44 @ 2,500 OF
e AReny IR
Mr. X paid €2500 for his
vn&nwm._on& tax

mow?pqﬁuﬁdﬁﬂéﬁgﬂu% "
i A 40

Compute the income from salary for the
Assessment Year, 2016-17.

( Continued )

12

1231/ Or

() T FRA oRUMR Rew e Wi,
1961-3 fif¥ere Pz I 41 | 1d

Explain the provisions of the Income-tax

Act, 1961 with regard to different kinds
of provident funds.

5. (@ Mr. Y @b porefes W fafRe
TP {1 4 AR T, 2016-17 5 A
(®&7 2-5(f& @1 e = g 40 14

Mr. Y is the owner of a house property.
From the following particulars, compute
the income from his house property for
the Assessment Year, 2016-17 :

5 (@)
SR oo 1,20,000
Municipal valuation
) 1,40,000
Fair rent .
1 PR e T 1,30,000

Standard rent fixed by the court

e WO 01.04.2015 ©R¥T [l e

10,000 531 swe fan czfew 7y eeem
@FEE 30.09.2015 Wity w1 2fe 3R @R

- ( Turn Over )
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(8)

fafdst 1 01.10.2015 iz 0! FR T
12,000 531 SO G Reiy
The house was let out w.e.f. 01.04.2015

for 10,000 per month which was
vacated by the tenant on 30.09.2015.

From 01.10.2015, it was again given to

rent @ € 12,000 per month

oA T <4 s 2A 20,000 53

Municipal tax paid ¥ 20,000 for the
house

T (M T A AT TR 20%

Municipal tax due for the house—20%
of municipal valuation

e, e Tonft I F—7,500 B

Repairs, electricity, etc., paid—F¢ 7,500

s FRiR A G AT @S T4
offgse Sfe@—30,000 il

Interest on money borrowed for
construction of house property—
€ 30,000

~00=ﬂ.::mn:

(b)

6. (a)

(9)

w1231/ Or

o Wi, 1961 wEm Rfem el
ﬁMnMﬂi@A (42U .dM..Mﬂo_@A 9T A1 Y’
et - @ RUFPTR SICems 41 |

State the provisions relating to
computation of ‘Income from House
Property’ under different categories of

house property as per the Income-tax
Act, 1961.

ﬂ%ﬁ@%éé&ﬂﬁg_

A A R @ W e ¥ S
T4 40 |

What is capital gain? Differentiate
between short-term capital gain and
long-term capital gain. Explain the
procedure of computation of income

- from capital gains.

(b)

P7/821

w11/ Or

S BT o 2l S Feme Suge FT
o1 R @I iRy wRA TtEy 41| SEE
ﬂﬁﬁm@ﬂﬁﬁﬁﬁ%ﬁ%@zx
e W 71 @RA R e cinRy

14

2+4+8=14

( Turn Over )




sm??ﬁdﬁaﬂ_

.mSao g% m<o :oBm o». BooBo 503&2_

“Sources’.

({10 )

§ﬁ_ga»iﬁgagﬁﬁﬁ

xwgaﬂzmsxﬂmﬁ%?jmnﬂﬂ
5+5+4=14

A

under the head ‘Income from Other
“'State " any “five ‘items not
aoacnccpo in oancgm taxable 585.5

S E&Q. Eo Soma Aaooam from OEQ,

p7/821""

' ‘moE.nom

‘State  any moE. ~items
deductible in computing megn income
under the head ‘Income from Other

Sources’;

( Continued )

(11 )

( Old Course )

Full Marks : 80
Pass Marks : 32

1. (@ SO @ ‘fiw’ fom: 1x4=4

Write ‘True’ or ‘False’ :

(i) S ARFT SEA o e P AW
e a1 =4 |
Total income of a person is
determined on the basis of his
citizenship in India.

(ii) SR T=FA MBS G/ o1 ¥ B> T
A’ IS YR I oA FO = |
‘Leave Travel Concession’ is a
tax-free perquisite for one journey
in a block of 4 years.

(iii) S ST =54 FIAS |
Tiffin allowance is fully exempted
allowance.

(iv) TR ofs WHEWR o[ T wq©
Teow 2 |
Capital gain arises from the
transfer of any capital asset.

P7/821 { Turn Over )



(b) < B o3 3y .

P7/821

t12)

1x4=4

Fill in the blanks :
() 01.01.2016 wifiy B! T PR WAy

(@)

(idi)

(iv)

ﬁ%ﬂﬂﬁﬂauﬁ.@éﬂ,ﬂ
|

A new business was commenced
on 01.01.2016. The first ‘previous
year’ in this case shall be

TR AR Swm fifae

Residential status is to be
determined for

TN @M [ @RS sy S
271

Dividend declared by a domestic
company shall be ___ |

01.04.1999 w47 fiss fire e w4
FeftR o 91 o TR o5
MG SR/ G, gy 0, Im
firan =1

Deduction for interest on loan
taken . for construction of self-
occupied house after 01.04.1999 g

allowed up to actual amount or
o whichever is Jess.

( Continued )

(13

2. %E@wuﬁmﬁagﬂ%ﬂg%@ﬁq

BIf51) : 4x4=16
Write short notes on any four of the
following :
(@) P e
Charge of income tax
(b) 11 or&fe
Method of accounting
(c) TerEIey IR
Capital expenditure
(@) w9z
Salary
(e) fom wifes S

3. @

P7/821

Special Economic Zone

SRF WA, 1961 SR Rewm wetie
DO S i1 e e gp—
AT RO RT3 | 14
Enumerate the special provisions in
respect of newly established units in
Special Economic Zone as per the
Income-tax Act, 1961.

( Turn Over )



(b)

4. (a)

P7/821

(14)

%31/ Or

1961 T SEFA SFE 10 4TS TE I
RS Fage SR R L I 90 14

Explain in brief various incomes which
are exempt u/s 10 of the Income-tax

Act, 1961.

fAsr® 7, 2015-16 5% Mr. X3 ®H e
wore TrEd T {N -

Mr. X has the following income during
the previous year, 2015-16 :

(i) T4 7@wz—1,50,000 B
Basic salary—¢ 1,50,000

(i) RAW T (R GF -l )—
50,000 5%
Dearness allowance (forming part of
salary)—¢ 50,000

(iii) e qFH (AFS ¥ 10,000 B%1)—
16,000 531
Medical allowance (actual expendi-
‘ture € 10,000)—F 16,000

(iv) Fre IS (T FI-@AAE AR)—
4,000 ¥

Education allowance (for two
children)—¥% 4,000

( Continued )

P7/821

(15 )

() 9T IR I A WEF AES

(vi)

(vii)

(viii)

IR AQ@ 1-6 PO g IO 99
@I @ @ e @ S
10 | SR CeT W ez Iz
Ffafest

He has been provided with a
motorcar of 1-6 litre engine capacity
along with a driver for the official
and personal use. All expenses of
the motorcar are borne by the
employer

@8 TAEE  15% 9% [y
SRyt weRERfEE  WF o (96
iRz smeRe (987 SRufAfita oo
HIRERRE

He contributes 15% of his salary to
a recognized provident fund and his
employer also contributes the same
amount

@EANA (964 AfPEY ARIFIA IRW
6,000 531 =R ffes

The company paid ¥ 6,000 on his:
training programme

(ode fmd RAamts 4,000 5
s e fafes

He was given cloth worth 4,000
by his employer free of cost

( Turn Over )




(b)

pP7/821

(16 )

() ERE (0% aE I WE Ao

e TeE IR fifed e @SR
o> & 2if® ez T Wi 600 H

A cook and a watchman have been
provided by the company who are
paid @ ¥ 600 each per month

2016-17 I T XA TANZA *R1 TeAE 2

(17 )

5. (@) Mr. P3 @aEbe [oe 2-7ife ifes | A
EfEte (€ 01.04.2015-3 [l
30.09.2015 (it @2 6 Wiz fAce «ifta
tAfRs S 01.10.2015-3 *[A1 €% 2-74f&
TRfd 12,000 IE were fifksw | B
z-5f&51  01.04.2015-3 @1 W
15,000 GIts oo fikm w9
01.10.2015-3 *[@1 A if& oo IR <%

o ey <40 | i B z-5facht Pfacs «feate ez ol |
Compute the income from salary for the Mr. P has two house properties situated
Assessment Year, 2016-17. in Guwahati. Property A is self-occupied
for first six months from 01.04.2015 to
w1331/ Or 30.09.2015 and with effect from
01.10.2015 it was let out for ¥ 12,000
fafRe RaEr ¥ Remess S e per month. Property B is let out w.e.f.
fre R R ¥ W, TR I 01.04.2015 at a rent of &15,000 per
10 : 4+6+4=14 month and w.ef. 01.10.2015 it was
i . self-occupied as Mr. P shifted his
lain in detail as to how the following y
MMM-MVR sl T chmpang ble residence from property A to B.
ARl Te 1o RoTAEd S Rew  wifkE
(i) SRR (OO 9T S A e e : |
ted value of pension The other detail of the above two house
- Commut properties are as under :
(i) TR SR 89(1) TS T T g A B
Relief u/s 89(1) of the Income-tax Propetty A" Property B
Act 5l (¥) ()
(iii) Frpfoene Sfwf(d ¢ 33 S o Cefeen 35,000 29,000
ized Provident Fund Municipal tax paid
Regogries 8 <ty 5,000 6,000
Insurance premium paid
( Continued )§ P7/821 ( Turn Over )




(18 )

s=off& A 5=9if& B
Property A Property B
591 () 591 (%)
Soifs T AT ACA I AT
@os fra@a TS 40,000 45,000

Interest on money borrowed for
purchase of house property

201617 ¥4 T I sl 9 Tofrei
ol o e 0 14
Compute the income from house

property for the Assessment Year,
2016-17.

SR HILE I ¥ 4+10=14

Who are the persons liable to pay tax on
income from house property? Explain
briefly the various types of incomes from
house property not chargeable to tax.

. (a) TGN FSRER o AR I SRS

iz, 1961-3 qREPTYE IR D F9 14

Discuss in detail the provisions of
Income-tax Act, 1961 for determination
of income from capital gain.

p7/821 ( Continued )

(19 )

w1231/ Or

(b) R SR [l Ag O AR Ay e
iz, 1961-9 gaﬂﬂﬁaﬂﬂﬁ_ 14
Discuss in detail the provisions of

Income-tax Act, 1961 for determination
of income from other sources.

* ok

p7—3000/821 6 SEM TDC INTX 1 (G)



